Chapter 9 Dirill

Answers and explanations can be found in Part I'V.

1.

Which three countries made up the Axis Powers
during World War 11?7

(A) Italy, France, and Spain

(B) Germany, the Soviet Union, and Italy
(C) Germany, Japan, and the Soviet Union
(D) Italy, Japan, and Germany

(E) Switzerland, Germany, and Sweden

Which of the following is the name of the peace
accord that marked the end of World War 1?

(A) The Treaty of Versailles

(B) The Treaty of Berlin

(C) The Treaty of London

(D) The Treaty of Alexandropol
(E) The Treaty of Vereeniging

Which of the following is NOT a characteristic of
“cold war”?

(A) Widespread espionage

(B) Direct military action

(C) Propaganda campaigns

(D) Proxy wars waged by surrogates
(E) Economic competition

“We must recognize that ending the war is only the
first step toward building the peace. All parties must
now see to it that this is a peace that lasts, and also
a peace that heals--and a peace that not only ends
the war in Southeast Asia but contributes to the
prospects of peace in the whole world.”

The quote by U.S. President Richard M. Nixon
above most likely refers to which of the following?

(A) The end of the Korean War

(B) The end of the Pacific Campaign of World
War 11

(C) The end of the Vietnam War

(D) The end of the War in Afghanistan

(E) The end of the Cold War

Which military campaign by the North Vietnamese
communists shocked the U.S. government and the
American public in 1968?

(A) The Easter Offensive

(B) Operation Rolling Thunder
(C) Operation Barrel Roll

(D) The Spring Offensive

(E) The Tet Offensive

Which of the following presents the selected events
of the Cold War listed in the proper chronological
order?

(A) The Berlin Airlift; the establishment of NATO;
the Warsaw Pact; the Bay of Pigs invasion

(B) The establishment of NATO; the Bay of Pigs
invasion; the Berlin Airlift; the Warsaw Pact

(C) The Warsaw Pact; the Bay of Pigs invasion; the
Berlin Airlift; the establishment of NATO

(D) The Bay of Pigs invasion; the Berlin Airlift;
the establishment of NATO; the Warsaw Pact

(E) The Berlin Airlift; the Bay of Pigs invasion;
the Warsaw Pact; the establishment of NATO

Which of the following events is often viewed as
the catalyst for the beginning of World War 1?7

(A) The assassination of Alexander Litvinenko

(B) The assassination of Archduke Franz
Feridinand

(C) The assassination of Lee Harvey Oswald

(D) The assassination of James Garfield

(E) The assassination of Benito Mussolini

Which of the following was an American policy
designed to contain the spread of communism
during the Cold War?

(A) The Monroe Doctrine
(B) The Rumsfeld Doctrine
(C) The Brezhnev Doctrine
(D) The Calvo Doctrine
(E) The Truman Doctrine
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9. Which of the following was a major consequence of
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the end of World War I?

(A) The beginning of American intervention in
global affairs

(B) The replacement of a military draft with an all-
volunteer force in the United States

(C) The establishment of the Third French
Republic and the German Empire

(D) The breakup of the former Ottoman Empire
into several new states

(E) The fall of the Spanish monarchy
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10. Who was the communist leader of North Korea
from the country’s establishment in 1948 until his
death in 19947

(A) Kim Il-sung
(B) Kim Jong-un
(C) Syngman Rhee
(D) Kim Jong-il
(E) Ho Chi Minh





